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71121 |FRE & HRJ-6C 6i{ 411.02.06 71704 usp —#3 By 1277~ 6i 4 (1.04.64
B

71212|5k8 #FE FMLLEA 6i 1 71234 Kk8S E&E ERE_ 6i1

71212 |RIEH BiE MILEA 6i2 71234 |32 184 EiE 62

71212|%ZHE &2/ [FELEA 6i3 71234|86K FA ERE_ 6:3

71212|$7F 5hKER  [BBLLEHA 6 41(1.04.74 71234 FE s 6i 411.04.97

71212|BAR] ¢ih FEILEA 6 71234|¥3EH HIK ERE_ 6

71301|1FH EFHF JAEAC-6A 6

71301|BAG fEth JAEAC-6A 6

713014t E2B) |JREAC-6A 6

71301|EFEE KE JAEAC-6A 6 DNS

71201 |58 =on WHZ1ZPA 61 291303 | [EIEH TEN SIF-9A & 6 1

71201|%8E BBAX WHZ1Z7A 6 2 291303| AT BRIE IF-UIMA () 6 2

71201| A 428 WHT1Z7A 6i 3 201303|KMH #RE IF-/A () 53

71201|FHH #% WH>1-7A 6} 4 |53.86 291303 FREH TRk IF-9MA &) 6i 4 [55.85
4 71217|HP BE RAAC—B 6i1 71615|54 [E JRCH(EH 6i1

71217\ 18K Gt |AKAC-B 62 71615|HHE BX JRCHIEH 6i2

71217|FH RE FAAC—-B 63 71615(H)1 FHEE JRCH(F5 6:3

71217| KR40 KA FKAAC—B 6i 4 (57.72 71615(ffitx BKES |JRCH(FS 6i 4 |58.67
B

291910( 4}, BEK =FC (&) 6i1 71203[/)\Br F=H HEAC (A) 6i1

2019105t &N =FC () 62 71203|78F BABEl |[BEEAC (A) 6i2

291910 AnAT {SEBH =FC (&) 6i3 71203|#fE KR HEAC (A) 6:3

291910| A7 {2 =FC () 6: 411.00.58 71203|B1H EiE HEAC (A) 6i4]1.03.45

711194 &K HHAEA 6i 1

71119|/)I| &K HHABEA 5i2

71119\ KK BEA HHAEA 5i3

71119|FiR K& HMHBEA 5{411.09.86




20161106 &£ RESULT

71801| &% EX RICHIAC—A 6i1 7121687 B BiEAC-A 61
71801|H EF) RICDIAC-A  6i 2 71216|7E4R B&3R F1EAC-A 6i2
1 |71801|d0iE {BX RCHIAC-A 6 3 2 |71216|=FPE AF0 FIBEAC-A 5:3
71801 |paIEp LS} RICHIAC—-A 6: 4152.64 71216 (A4t BE F1EAC-A 5i 4157.51
71801 [Ptz a2 #ev-n1 | BRCHIAC—A 6 71216|EN, #F FEBAC-A 6
5 71104| KB &=L EE557 5i1 72702|F £ BT SvIEYIS-h 611
71104| %8 1E—BF (BEESSD 6:2 72702 (/B8 —1E Sy ES Y-k 612
3 |71104|FAAIR KiE |BEEIST 63 4 (72702|@AH &= SvIEIHE-KN 61 3
71104| BH &4 pEEHST 5{411.00.95 72702|7EfE BE=) Sy EHST -~ 61 411.01.24
8
1701(&ZE #=t JACRME 6i1 711215 BEE HRJ-6E 6i1
1701|F& # J ACRME 6i 2 7112117 &K HRJ-6E 6i2
5 (1701|(LE /=t J ACEE 6: 3 6 |71121[3A%F WEK HRJ-6E 5:3
1701 |4RER MEA J ACRME 6: 411.01.90 71121 |fA (48 HRJ-6E 6i 411.06.93
1701|&+&E BEA J ACEE 6
7260642 HBLR FEPE_B 5:1
72606| K & FEBEE—B 6i 2 |DO
7 |72606| LA FRE FEfE—B 6i 3 |12 2mov
72606({1L FNEH  [FEPE_B 6i{ 4 ((1.0341)
72606|FR E FEPE_B 5
291910 RE —™Y =EB () 6i1 71704|h—> 83l BEO 127N 611
291910( {8 Bt =FB (&) 6:i2 71704| 87 BB B 127 65 2
1 |201910(fFA Ehiith =B (X&) 6:3 2 (71704 BB BZE  |BE 12798 6§ 3
291910| FAA {BED =FB (&) 6i 4 |58.57 71704 A FijZE B&E 1279 61 4 159.94
6 1236|215 EH HHEEEL 6i1 71121 |6 sk HRJ-6B 6! 1
1236(3Z A B& HHELE 6i2 71121\ 125 HRJ-6B 6i2
3 [1236|mEB @) HHELE 63 4 |71121 |45k &En HRI-6B 6i 3
1236|518 B& EREL 6i{ 411.00.94 71121 (B H #EE HRJ-6B 6i411.01.80
#
1819(#M5 &A SuLpEESST 581 71301 (& K97 JXEAC-6B 61
1819| KR &4 FLEEESST  6: 2 71301|B2[] A3 JXEAC-6B 62
5 [1819|)IlE Al fLpEESST 58 3 6 |71301|M% AR JREAC-6B 6i 3
1819|ILAR AE FLlpEESST 5§ 4 (1.02.07 71301 (db)Il K JAEAC-6B 6i411.02.41
713053%[ER UEK USHEKSC-B 61 1
71305|=vYH BE UBHKSC-B 6§ 2
7 |71305|84% B UM=K SC-B 6i 3
71305|/\f8 &KX UBHMKSC-B 6§ 4(1.02.43
71305|HE 3 UBHMeKSC-B 6
- A=
g | ES K & g% Fip | EiER g | TS K & g b it 5
71801 &% BXK RICDIAC-A  6: 1 71217|1E5H B8 RARAC—A 6i1
1 |71801|A% E& RCHIAC-A 6 2 2 |71217|d0A BEX RAAC—A 6i2
71801|HiE {EK RICHIAC—-A 6i 3 (52.50 71217|KEF HIK RARAC—-A 6i 3152.54
71801 (PolEp fES RICHIAC-A 6: 4 71217 5B IEF) RARAC—A 6i 4
71201|5K8F #0] WHEHPI1ZFA 6i1 1605|hAa & FPA)—hrwhk 61
3 (71201|FfEEH BBA WRET1=7A 6i2 4 | 1605|911 f#ES} FA)—-hryk 612
N 71201|BFH (EH WE>1Z7A 6i{ 3(53.71 1605|E—74X— = |7AU—-brvh 6i 3154.75
R 71201 |5 #E RES1-7A 6 4 1605|G/] L& |7RU—bkyk 5 4
B 1514(%H B2 JIREFRC 6i1 71305|&£8 R UBHEKSC-A 6:i 1
5 |1514|H$p =t JIEREFRC 6:2 6 |71305|R& #RA UBHEKSC-A 6§ 2
1514|&W kK JIEREFRC 6: 31(56.29 71305|FhH [EE UBHMEKSC-A 6 3(56.53
1514 /K B JIEREFRC 6i 4 713058 f@ABE |USHMEKSC-A 6i 4
7121638/ IS F1EAC-A 6i 1 71217|HY BE RAAC-B 6i1
7 (71216|7E4E E&SR F1EAC-A 6i 2 8 |71217|p0BAA K | RARAC-B 62
71216|5FBE KF F1BAC-A 5i 3|57.46 71217 | RE RAAC-B 6i 3|57.57
71216| A4 B BIBAC-A 5.4 71217\ A4k A RAAC—B 6:4

10




6FLZF 4x100mR

20161106 &£ RESULT

TE
No. = A- No. F| A=
| fB ] E | p-p & = |5 | 508% JIg | p-p° FE F 5 | 508%
71801|5R/E #al RICDIAC-B 6 1 71518|NlEE RAE = HM6A 61
71801|&H/AF O RICHIAC-B 6 2 71518|fEE ZEkk EHEM6A 62
1 (71801(AEH Y¢iE RICHIAC-B 6 3 2 [71518(FH) PR EHM6A 6i3
71801| A 2EFH RICHIAC—-B 5: 4(57.97 71518|/\g BEE EHEM6A 6: 411.00.08
1 1514|3Fr8 BB JIEBEFRC 6i1 71201|8EHF B WH>1=7C 6: 1
1514 (&8 HE% JIEREFRC 6i2 7120178H #7T) WHZ1Z7C 6i 2
3 |1514|)IIK &%= JIREFRC 6i3 4 (71201|[EE8 =8B WH>1=7C 63
1514|&E0 Bx JIEREFRC 6i 4(1.00.70 71201 |5 FIF WH>1=7C 6 4(1.02.21
. 1514 IIAR BB |THEREFRC 6
712345 &P ZEE_A 6i1 1523| bt =2 RESC 6:1
71234 KH 163B EBETA 6i2 1523|131 B AESC 62
5 |71234[/TE RE&R |BFFE_A 6: 3 6 | 1523|FH & ARESC 63
71234| KAR B¥E [BEFE_A 6 411.04.02 1523 |*xE BZ1E KESC 6i 4(1.07.62
71234|F HER ([BEFE A 6
716181 #k= YEEEFB 5i1 71305 ILA 3 UBSHEKSC-C 5§ 1
71618|R[O WIS by A r=1E3] ) 6i 2 |DO 713058l Ek5 UBHeKSC-C 5i 2 |DQ
7 |71618|R2E &BHF HERSEB 6i 3 |12 5moV 8 |71305|fEAK BE=E UBHEKSC-C 6§ 3 [3—42moVv
71618| B4 UHB Pz r=1E3] 5 6: 4 |(1.05.75) 71305(KT B UBNeKSC-C 6 4 ((1.05.78)
71618| ™A B¥ FEAETEB 5
71602|AIH 22 RAZE_6A 61 0| IEE EE E-9A 3 6] 1
71602 8K ¥ RBAE-6A 62 291303| FHAT = IF-UIAA (&) 61 2
1 |71602|FmZE Xi5 RAE-6A 63 2 |201303[/\E HC IF-UMA () 5i 3
71602 5K BEATE |RAXE-6A 6 456.79 20130338 =8 IF-91A 3 6: 4 |57.02
2 291910 29E =EB () 5i1 72702|7FEH I SvoES - 51
291910( 41| I1HEE =%EB (&) 5i2 72702 |$5tR  RER SvIE -~ 612
3 |291910|F])I] ZEZE =FB (X) 6i3 4 (72702| KM B3¢ SvIEVHT -~ 61 3
291910\ #k 75 =B (R) 6:4(59.54 72702|$X)1| T SvIEYJS -k 61 4(1.00.51
%H 72702| LB FE AL NI
71301 MR &FI JREAC-6B 5i1 71200| AT == EASIZ7B 6 1
71301|F%RAK Bk&A |[JXEAC-6B 5:i 2 71200 [BE4T P52 BEAX>1Z7B 5i{2
5 |71301|Kdb £S5 JXEAC-6B 5i3 6 |71200|6M@ = BA>1-7B 6i3
71301 3| 2275 JRAEAC-6B 6i 4(1.03.63 712003F)| /)\BE BAR>1-7B 5i{411.03.87
7111918 85 HHAEB 6i1 71217 (=48 &id RAAC-A 6i1
7111945 21E HHABEB 6:i2 712170/ #&T) RARAC-A 62 |DQ
7 |71119|th#t BEEER (HHHBEEB 6i3 8 |71217|42M 83z RARAC—A 6: 3 [1—27mov
71119| 515 B HAREB 6 4|1.05.44 7121730k % RARAC—-A 6: 4 ((59.96)
71801|BRH Im7o RIDIAC—A 6 1 7130588 B UBhEKSC-B 6. 1
71801 BH iR RICHDIAC-A 6 2 71305|1RE T& UBSHEKSC-B 6§ 2
1 |71801iKTEF £ |RICHIAC-A 6: 3 2 |71305|B8@H BF% UBHEKSC-B 6} 3
7180134+ £ RICHIAC-A 6 4 [55.30 71305|ME &S UBHEKSC-B 6 4 |58.65
71305(4THR DREZ UBHEKSC-B 6
3 71121 FH EE HRJ-6A 6:1 71618|EE FOTE JEEEA 6i1
71121| EfE 8ZFJ5 |HRI-6A 62 71618|&7[1 E=E SEBEEREA 6i 2
3 (71121 10K ZEHE HRJ-6A 63 4 |71618|=% =85 FEERERA 6i3
71121 |{kBE B(E HRJ-6A 6i 4|58.74 71618 |ER B3 FEASEA 6i 4159.28
. 71121|Al@RET HRJ-6A 6 71618|F)Il FEZE FEAATEA 5
#H
71104(fEH E0] PEEHST 61 71201 |5AfE #0 WEH>1-7B 6. 1
71104|fae MB%  (EEI5T 6i2 71201 |1EH B WHEJ1=7B 6i 2
5 (71104|#AH B EEHST 6:3 6 |71201| KT A&JY WHI1—-7B 6! 3
71104|FAE #H PEEHST 5: 4 |59.35 71201|3FH B%F WHI1—7B 6 4 [1.00.39
71216|4F £ 0JF F1EAC-B 5i1 2604|A4FF mHAZXE [2RFO0-RE2Y 611
71216|5FK HiE F1EAC-B 62 2604 |54 1B Sfeo—-R+>4 61 2 |DO
7 |71216|EL TEE F1BAC-B 63 8 |2604|RE HTHF |[2O-R+>H 61 3 [2-3 3mov
71216|5@K H<H F1EAC-B 6: 411.02.29 2604|328 BiE Sfe0—-R+>4 61 4 ((1.00.95)
71216|47E) B34 B1EAC-B 6

11




20161106 &£ RESULT

71200[/MER =3 |BAS1-_/A 6: 1 71228[ILA & 10015°&5> 6! 1
71200 &% BR BAT1Z7A 6:2 71228|1LEE #5F] 10015 &3> 6 2
71200| B2 T BART1ZTA 6: 3 71228(#H F BAANEY |100135>&35> 6§ 3
71200| 94T £ EARTI1ZTA 5:{ 411.00.69 71228[3%)1| 55 10013> &3> 6:i 411.00.74
71228|GlE BEF] 100132 &3> 6
4 71301(IUF ETE JAEAC-6A 6:1 1705|FH B& BRI SAHwI-ZX 6§ 1
71301| IR EHF |JXEAC-6A 62 1705| LA BZ1E REJSZARYN-X 6 2
71301|18/R A3 JAEAC-6 A 6:3 1705|24K ##H PREEYSAHwI-ZX 6§ 3
71301[3EK BR#C JXAEAC-6A 5i4(1.00.93 1705(RH O frmasd 324w/ -X 6 4 11.03.05
8
71119(#8H BFHF [KHBEA 6i1 71702| LA #ichE SEMN7vTIL—B 5: 1
71119(ZH &< HAEA 6:2 71702| EJR 2 FMPYIIN—-B 6 2
71119|1IEAK EAE |[HHHASEA 6i3 71702\ #EE RMMTYIIN-B 6 3
71119[i%H #HE HAEA 6i 4/1.03.52 71702| A FMPvII—-B 6 4(1.03.99
71234|FE =Mk BEE"B 6:1
71234| &Rk BHE EEE"B 6:2
71234|K FI&A EBETB 63
71234 K& fH00 BEE_B 6: 4|1.06.29
71234FK EBE (BE%FE_"B 6
291910 FJI| BR =EA (&) 6i1 71305| Nk B USHzKSC-A 6! 1
291910 ARFF TR =FA () 6i2 71305|lLE — UBHMzKSC-A 6§ 2
291910 #KEH &% =FA () 6i3 71305| 68 LE USHMEKSC-A 6§ 3
291910| =8F K= =FA () 6i 4|57.01 71305|d8)1| —& UBHMzKSC-A 6i 4 |57.40
713054t 3 UBNeKSC-A 6
5 1605|%H BHE |F7AU-hrvk 61 71201 |fFiE EJ WHE>1-7A 6. 1
1605[BR B VAU—hRrwk 61 2 71201|HIH =& WHZ1Z7A 6} 2
1605|1FH (00 FJAU—-hxrwhk  6: 3 71201 |[MHE BHE WHZ1Z7A 6i 3
1605(42AK t#hE FTAY—Rrwhk  6i 4 (59.38 71201 |43l /& WH>1=7A 6} 4|59.95
@ 1605|Xl& Zi8 FA)-hryk 6
71801 AAMR HFE [RICHIAC-C 61 1 71120| B[R K& EthxtvT 6i1
71801 |¥iM MHEE [R(CHIAC-C 5 2 71120|%0@ WS> Ethz2tvr 62
71801 | A% L& RICHIAC-C 5i 3 71120|BH 2 ZhiztyS 6:3
71801|HE E{E RICHIAC-C 5:{411.04.17 71120\ H K% 223y 5:4(1.05.61
71518 BB EHM6B 6: 1
71518| &% KFI =/l 6eB 6: 2
71518| ] BT EHM6B 6: 3
71518|BEH £HiE = HEMeB 6i 4(1.06.56
71216| EA AR TTEAC-A 61 1 71702|XA8 KB |mRMIYIIL—A 6 1
71216(lUIF A FTEAC-A 62 71702| I =EZ= FIMNTYII—-A 5§ 2
71216|7%E B F1EAC-A 6i3 71702 |84 ENE FEM7YIIN—-A 6i 3
71216 |88 W) B1EAC-A 6 4|57.55 71702|HH & RN IIN—A 6i 4|57.78
71702\ ARFH € |[RM7YTI—A 6
6 71602| B0 FR REXKE-6B 6i1 291303[ IR st IF-91/B & 5 1
716020 B4 RBAKE-6B 6:2 201303( L LIA 80 IF-911B (&) 5i 2
71602 | =B =P5 RAE-6B 6:3 291303| =358 #h0 IF-vMB () 5i 3
71602|BES W5 RKE-6B 6] 4(1.00.71 201303| IS E KB |a+-9148 @ 6i 4(1.01.86
8
71217 (M FESR XRAKAC-6B 6i1 71212|HE #E45 MAILEB 6i1
71217|IRFHF FE RARAC—6B 62 71212|[EAR ¥1E mLUEB 6:i 2
71217|55 8 FARAC-6B 5i3 71212|F1H BF FMILAB 6i3
712173IJ& HR RAAC— 6B 5 4(1.04.52 71212 |BRER #EF MmLuUEB 6i 41.06.98
71217|HHE 0 XRAKAC-6B 6 71212|5EK 8BS MELEB 6
291910[/NB BMK =FC (&) 6i 1
291910 FBEH FEE =FC () 5: 2 |DQ
29191085 EHIETY |=FC (R) 6:i 3 [2-3 1mov
291910| HH F= =FC (&) 64 ((1.02.32)
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A= A=
g | FE=S K £ g% Fip | EoERk I | TS | K £ g b 5
71801|8kH HH RICNIAC-A 61 71602|BIH 2% RBAE-6A 61
1 |71801|BH =R RICHDIAC-A 6] 2 2 (71602(EAR ¥Z=E FEXE-6A 6i2
71801 [iKSTEF Y |RICHIAC—A 6 3 [55.44 71602|FE5E Ki6 FEXE-6A 6i3|57.20
71801|;ZFF EH RICHIAC—A 6i4 716025k BE4ATE [RAXE-6A 6i 4
71305|REE B2 USNMzKSC-A 61 1 71216| EA Fk F1EAC-A 6i1
3 [71305|1UE —= UBHEKSC-A 62 4 |71216|ILF %A FTEAC-A 62
. 71305\ A5 P& UBNHMEKS C-A 6! 3(57.77 71216\ 0 BEM FIEAC-A 6i 3(57.81
R 71305|85)1] — USHEKSC-A 6i 4 71216|88E DN FSAC-A 6:4
B 71702| A KEEB [RMIVIIL—A 601 71121 (&)l B3 HRIJ-6A 6i1
5 (71702|EJI| =EZ= EMTPYII—-A 5i2 6 (71121( kfg 8275 |HRI-6A 62
71702|854¢F X0& MY II—A 61 3 [58.41 71121 IR 525 HRJ-6A 6i 358.57
71702[iKH & FEMPYTI—-A 6 4 71121 |k BfE HRJ-6A 6i 4
71801(ER[E 1@ RICDIAC-B 60 1 713058 ©i8 UBHEKSC-B 61 1
7 |71801|F/At i RICHIAC-B  6: 2 8 |71305|1RE T&F UBHMzKSC-B 6§ 2
71801|8EM HAh RICHIAC-B 6i 3 |58.65 71305|Ba[ {BF UBHzKSC-B 6§ 3 (59.78
71801k &&FFE  |MCDIAC-B  5: 4 71305 | AR fEE USNEKSC-B 6i 4
5FEF 0O0m
A LRI _ _ _ . _
[ fHllE|HES]| K & FiE# =z SCE% JIg | &= K % FiE# E o8
1| 1]1217[t8H Zzhk RARAC 5 2.35.50 21 1217[54 e RARAC 5 2.38.90
31201 [#85E F+=Ih WHZ1Z7 5 2.41.75 4[1201|EH 18 WH>1Z 5 2.42.46
5[1217| 54 FEBE  [HARAC 5 2.44.84 6] 1216(FFE_A#0 FIBAC 5 2.45.79
711305[#xK Ei1f UBQMeKSC 5 2.46.73 8] 1201[FEk FHtE WH>1Z 5 2.46.79
911121 ;&R XfE HRJ 5 2.48.11 10[/1216 4|:,/§ BEN BiEAC 5 2.48.12
11]2807 %EE [k AHE/NER 5 2.48.54 12| 1217[=F &KX RAAC 5 2.51.12
13[1311|=F =& ZEFKSRC 5 2.51.19 14| 1201 [HAJI EX WH>1Z7 5 2.55.84
15]|2604 ﬁEEI = Siy0—RE>Y 5 2.56.14 16| 2606|4Z# iR FEEpE_— 5 3.00.04
17[11218R =6 HRJ 5 3.03.26 2606|111k EiE FEEpE— 5 DNS
1201 »:I:I FiT WH>1Z7 5 DNS
2 1]2702|#E AKX SvE DT -k 5 2.46.39 21 1228[n0)11  #& 10015>&35> 5 2.49.60
3]1305]/\l £= USQMeKSC 5 2.53.48 4| 1615EH BHHA] [JRCHIFS 5 2.54.90
511624[EAX XF] FERERD-—LZX 5 2.55.61 6l 1615(/k8 RE JRCH(EH5 5 2.56.25
7[1518|HP EX = HM 5 2.57.66 81201 |47 PE WHZ1Z7 5 2.58.54
9|1217|88E ZX RARAC 5 2.59.77 10[1212[1h0 28X [EaTiN]=a) 5 3.00.27
11{1518|fkAK EE = HM 5 3.02.01 1211301 |H . F T JXAEAC 5 3.02.93
13|1615|5%F &5 JRCH(E5 5 3.07.82 14| 1305|{§ B% USHeEKSC 5 3.11.36
15|1518|&FAK 5 E R 5 3.12.91 16|1228|)lIf8 ESF 10015>&35> 5 3.16.23
17013111l BEsf ZEFKSRC 5 3.28.57 18| 1615[tA8 EX JRCH(F5 5 3.49.25
JIE | &= | ___FE#& = SCE%
1[1217[%8H =A% RARAC 5 2.35.50
2121754 A RARAC 5 2.38.90
3|1201 (185 ==K WHT1Z7 5 2.41.75
& [ 4[1201[2@ A& WHSY1—7 5| 2.42.46
=] 51121751 FERE  [HKAAC 5 2.44.84
6[1216(FFE_A#0 BIEAC 5 2.45.79
712702[#VE EX SvyoE -k 5 2.46.39
811305|AK =i USheKSC 5 2.46.73
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5&%&ZF 800m
iy
[FE 8 [ == K 2 [ e 2| it B == K & Es | s
1111204 xH EfhzEyT 5 2.41.48 1[__2[1305[= =& USHMeKSC 5 2.41.67
3[1120[X BB/} EEEDvi 5 2.43.32 41 1301[ X1t 15 JXEAC 5 2.43.70
S[1216[& E (O AEAC 5 2.46.96 6] 1305[=1l =2 USHMeKSC 5 2.48.53
7[1120[1FfF =4 ELEyEDi 5 2.52.09 8l 12175 Mt RAAC 5 2.52.25
9|1301|4f mHE% [|JZEAC 5 2.55.17 10| 1305[E)11 =Rk UBHMeKSC 5 2.56.31
11[2702[h0EE ZE Sy B F5—K 5 2.56.73 12| 12175k FRit FAAC 5 2.58.20
13[1301| FH = IZXEAC 5 3.01.13 14| 1120(#AM s EEEDA 5 3.03.49
2| 1[1301[Fm #%xE [JXEAC 5 2.58.14 2|__2[1305[373% Bxia UShZKSC 5 3.01.66
3[1119]Fl =k tHHBE 5 3.03.45 411119[A8 BE HHBR 5 3.10.67
S[1121|&EE #& HRJ 5 3.11.16 6] 1618[FIIl =2 XEBEE 5 3.12.47
712606|AJ1 = e 5 3.13.47 8] 1119[fhH 1573 YHAR 5 3.14.55
92606 |FaEF &I EEE— 5 3.16.22 10| 1119|FE #& HHAR 5 3.21.06
11[1615[&F& F&= [JIRCHE5 5 3.21.91 12[ 2606 |F74t &5 FEEBsE — 5 3.23.00
131518 AFE EMk 5 4.09.62
ElEe |l K& Em%% £ T
1[11203RK =H ELEpED) 5 2.41.48
2[1305[=1 =& UShEKSC 5 2.41.67
3[1120[X% BB=T3 EEEvi 5 2.43.32
B[ a[1301[ATt &R JZEAC 5| 2.43.70
8 [ 5[1216[FEF OJ B1EAC 5 2.46.96
6|1305|=1L =& UShEKSC 5 2.48.53
7| 11201k E4 ELESwi 5] 2.52.09
8|1217|%8 #x ZARAC 5 2.52.25
6FEF 800m
iy
EANEEES e £ SCE% Jig | FES E & PE$ £ SCE%
1[_1[1615[fx BEABS |[IRCHEFS 6 2.24.81 1 2[1201[%EH A REHT1— ) 6 2.26.78
3[1301iFH EH JZXEAC 6 2.28.70 4| 1518[#&R 2 =k 6 2.28.87
S5[1216[764E_E&3R HEBAC 6 2.30.76 6/ 1801[hiE EX RICHIAC 6 2.30.78
7[1120[1LA HEE ELyEDi 6 2.31.39 8[1301[Ea &HE JZEAC 6 2.31.78
9[1305|&%& 3hfc USHEKSC 6 2.31.99 10| 12018 F fEE WH>1=7 6 2.32.82
11[1201[AH =M WREZ1=7 6 2.33.15 12| 1615[5)11 BE JRCHIFS 6 2.37.03
13[1217[]1IA B RAAC 6 2.37.08 14| 1201|&H #E WHT1-7 6 2.37.25
15[2606[4&1L MEH [FEpsE— 6 2.38.45 16[1120[Fk FR el 6 2.39.01
1311 A4S A% E%KSRC 6 DNS
2| 1[1121[5% 3hE) HRJ 6 2.38.44 2| 2] 170152 #AST J A CREl 6 2.38.46
3[1201] FiE #0&k RHZ1-7 6 2.39.98 4112171\ R FAAC 6 2.40.40
5(2702[B8 —f& v €2 H5—k 6 2.40.88 6| 1120(&M & SP23vT 6 2.43.18
7[91910[{EA Bt == & 6 2.43.24 8] 2606[ILA BEFE FEERsE— 6 2.44.18
91217 AHA 7:2& HAAC 6 2.47.13 10| 1301 [AHF ﬂia‘r :IZ%AC 6 2.47.70
11[1121[89E 4 HRJ 6 2.48.27 12| 2606 EX & FEEbsE 6 2.48.88
13]1104 @5&{% &g |EFI5T 6 2.49.53 14| 1121 [#8H 1‘5@ HRJ 6 2.57.08
15[1704[E)1] [EXEA [BHJI C 6 3.26.52 1301 [{EBE AT JZXEAC 6 DNS
3|_1|2702|HF & Sv bt 5—k 6 2.48.80 3|2 1212|8 iEA FaLLIH 6 2.48.82
3[1518[iE8F AFE =A% 6 2.51.29 4|1615|54 & JRCHIFS 6 2.52.68
S[1120(ZmE 1 R EDDi 6 2.54.63 6] 1234[kE _EE EFE_ 6 2.56.00
7[1615[HH BX JRCHIFS 6 2.57.33 8[1701[11E &2 JACREE 6 2.59.96
9l1236|atE & HHEF 6 3.00.78 10| 1615|HFE Mz JRCHFD 6 3.02.23
11]1212[5thH &XA =LA 6 3.03.57 12| 1212[37F shABR |EILE 6 3.06.37
13[1701[H+=E BA [JACEME 6 3.07.03 14| 1212|=@ &F LA 6 3.11.40
15/1120(& #Ex ELyEDvi 6 3.19.96 1311 R Af ZEFKSRC 6 DNS
llg | &= PE% £ SCER
1[1615 fﬁ% éjxﬂll JRCHIFH 6 2.24.81
2[1201[%EH BA RHEY1=7 6 2.26.78
3[1301[1FH =& JXEAC 6 2.28.70
[ 4[1518[BE &a =M 6] 2.28.87
| [ 5[1216[7EtH B&aR HiEBAC 6 2.30.76
6/1801[hiE &4 RICDIAC 6 2.30.78
711120[1LA 1%Ea EL e 6 2.31.39
811301 [E 1 =AfE IZXEAC 6 2.31.78
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I
| JIE | &= | K & FE% £ SCE% Bl FE =] K £ PE% Ed SCER
1[1201[FRE A0 RES 17 6] 2.32.47 1| 2[2702|%9% aned SvEoI5—F 6] 2.37.74
3[1201[F1H == WEHS1=7 6]  2.38.12 4[1201i5M B WREHS1—7 6] _ 2.38.16
51201 [#L0 /& WHS1=7 6] _2.38.84 6|1201|5H 5 WHT1=7 6] 2.39.34
7170254 A5 M7y 6] 2.40.66 8[1305[FF _&hl UShEKSC 6] 2.42.63
o[1217[#H Bx ZAAC 6] _ 2.43.46 10[1201[X@l &7 WRHY1=7 6] 2.43.65
12018 28y WHS1=7 6]  2.4511 12[1301I0 F &1E JREAC 6]  2.46.08
1201[BH % WHES1=7 6] 2.46.24 141514114 &z TIEREFRC 6] 2.46.24
1216] EA& #1k BIEAC 6] 2.46.87 16| 1615|pIE0 fha JRCHE5 6] 2.46.93
91910[Fi) z= =% (& 6 2.47.09 18|91910[/NE BIK =% (B) 6 2.50.23
2702 KMl Bk Sy P I5—K 6] 25294 1217 ?@_ggﬁ, FARAC 6] ___DNS
1201 [H88 =1 RES1—7 6] 2.41.24 2| _2[1301[5% #Z2 JAEAC 6] 2.41.50
1301[PE 25 JZEAC 6] 2.47.85 4[12173RF we FAAC 6] 2.54.61
1523[#:H BBt AHSC 6] 2.57.35 6| 1119(#8H hmY |[WHAR 6] _ 2.58.08
1618[EA UN3  [HESE 6] 2.58.24 8| 1120[#0@ W> ELEvi 6] 2.59.20
1704[%EH Mz HIx] C 6] 2.59.31 10] 1236[@H Bz FE=lE 6] 3.02.83
1217 % FES FAAC 6] _ 3.02.89 12[1401[*FH =& BEEREL)S) 6] 3.06.16
1200VVMER ET [BXAS1=7 6] _ 3.06.63 14 1618[53F &% SEHIEE 6] _ 3.08.84
1236|718 &t EHEL 6] 3.10.75 16][1523[ /I &= KEHSC 6] 3.41.14
1523[ Fit =& AHSC 6] _ 3.56.16 18] 1523[@H 9 AZSC 6] 3.57.86
1120[FEE %e EE e 6] __DNS 112138 g HRJ 6] ___DNS
g | &5 ]| K 2 =t 2
11201k 7 RES 17 6] 2.32.47
2(2702|%FR_3ReR Sv B 95—k 6| 2.37.74
3[1201(FiH == WREHS1=7 6]  2.38.12
¥ [ al1201[i5@ B% WHS1=7 6] _2.38.16
g2 [ 5[1201[MiL & WHS1=7 6] _2.38.84
61201(FH B WREHS1=7 6] _2.39.34
7170285/ 405 REINTYTIL 6] 2.40.66
811201 |[EEF =1 WHS1-7 6] 24124
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BNfﬁ'ﬁﬁ%

_ 5&#&5%8F 80mH
Yo
A B [ & K = e = ] & EZ 2 o
1| 1[/1305|%58 1F UBH K S C 15.33
2[o1910(#nH R =% (&) 19.02
FESSE % e ERESS
R 1| 1305|258 1F USH K S C 15.82
B
B
2
m
} 5%%ZF 80mH
FE E= £ = S 75 E[ES HER L i
1 1305|%k & UBHMcKSC 5 14.46
1217[&R TE RARAC 5 18.10
= FEZ | iix
R 1305 ﬁﬂﬁ S USHMeKSC 5 14.60
- 1217[&R 1E RARAC 5 17.80
B
H#
m
6FEEF 80mH
R == E & TEE = on Bl == TEE = on
1 1121 [IrFH KA HRJ 6 13.80
1216|387 IS HEAC 6 14.83
(B | K it A 2
R 1121 [ KA HRJ 6 13.97
s 1216[%EF I HiEAC 6 14.91
B
1
m
6FZF 80mH
AR == & S A B ES FEZ T in
1 1305 E% B USHeKSC 6 13.75 2 1[1217 RARAC 6 13.44
1217|518 £id RARAC 6 14.69 1216 F1EAC 6 DNS
= — EZ = om
1217[3FBE #2873 RARAC 6 13.35
1305[A8 “E USHeKSC 6 13.70
1217|518 Fi RARAC 6 14.90
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_ 4FBEF 100m
Biec]
IR = 2 e  F|  sut% RS % Z T A
1| 1[1523|7E3¢ Aot X 4 14.89 2] 1[2702[%E FfE SvIELI)T—K 4 16.12
2[o1910[{ks BEE =% (&) 4 16.28 2| 1701 1LE EK JACEmE 4 16.31
3[1119[F) EFEE HHBE 4 16.53 3| 1618| FEF 858 HERSE 4 16.65
8| 4|1615[dkx K— JRCH(E5 4 16.89 iB| 4/1518 ?aalJ,.l ZE =M 4 16.89
3 5[1201[FHH 4T WH>1Z7 4 18.01 2.3]_5[1514[fRA Z&H PIEREFFRC 4 18.26
m|_6[1212|84F1 =fh ALl 4 18.47 m|_6[1212[#&H Al ELLEA 4 18.62
711401[p#% R BE)IIEEEEHST 4 19.64 7191303[pK =} IF-911 ) 4 21.03
1228|RMA 5K 10015>8&5> 4| DNS 1234|088 B8 %_,g: 4 DNS
3] _1[1301[fE X JREAC 4 15.43 4] 111212|fE4K #8 LI 4 16.40
2[2604[1LE #RE SrRIFO-REY 4 16.07 2[1514[4FH AKX JIEREFRC 4 16.45
3[1217[pIFE F 3HE [ZRARAC 4 16.53 3|91910[ FH BZE =% (& 4 16.48
B 4|1228|5H #4A 10015>2&5> 4 16.88 Bl 4|1104[=F #E=E PEEHIST 4 16.49
2| _5[1201[E8f BEX WH>1=7 4 17.05 2.6] 5[1236|=18 &% HHELF 4 16.78
m|_6[1305[HE USHeKSC 4 18.03 m| 6112138 HRJ 4 17.78
7112127k & ﬁIJ.IEH 4 18.06 7112125043 Bk ALl 4 18.90
8]2606 _,@_%4‘ EEEBEE — 4] 18.24 120018 B%% EXS1-7 4] DNS
5| 1]1228|%H B4 10017/&5‘/ 4 16.20 6| 1[1217[1LU0 #AX ZARAC 4 14.85
2|11305(E F = USHeKSC 4 16.49 2[1203[/8#H —¥ HIEAC 4 15.08
3]1120 buﬁi%“s =N %DZ#\D" 4 17.01 31121 [#E #FR HRJ 4 15.44
Bl 4|1201E4 &% WH>1Z7 4 17.16 Bl 41301 X&H JREAC 4 16.39
3[_5[2606]X8 3k I—EB%: 4 17.25 4.2 _5[1801|EH 3 RICHIAC 4 17.85
m|_6[1212[EXK B¥E [EaTIl=a] 4 17.61 m|_6[2702[#kJII £k SvoES T -k 4 17.98
711228[#k Eﬂ] 1001585 4 17.65 711212|& F =X ALl 4 18.20
81119 BB |RHAE 4 17.89 15187KkiE EH EHEM 4 DNS
7] 1[1212]} ﬁll LLIFH 4 16.47 8| 1[2702[dtl & SvIEL )Tk 4 14.93
2[1121 —;—; _A HRJ 4 17.17 2|91303|fBE AKFE SVE-uA (&) 4 15.53
31236| AR F =13 BHELF 4 17.48 3] 1514[%5 B TIEREFRC 4 15.85
Bl 4|1201[BR FLC WHT1Z7 4 18.13 B| 4[1701pEx B4 J ACER 4 15.87
2[__5[91910[F)l| BHEH [=% (& 4 18.19 2.9 5|2604 %]l #kE SrRFO-—RE>Y 4 16.77
m|_ 6[1228[JII4f #AKEE [10015>&5> 4 19.08 m|_6[1216][&&X BE B1EAC 4 16.81
1301[3EH BA JXEAC 4 DNS 711104510 ¥k [EFH57 4 17.00
1217 RAAC 4 DNS 8]1212] FH |E_§ LA 4 22.57
o| 1[1217|FHiE Bu=E RAAC 4 16.51 10 1[1121[HHZE 3F HRJ 4 16.13
21301 3%H 158 JREAC 4 16.68 2[91910[FEH X& =% (&= 4 16.15
3|1228|5hth REE 1001585 4 17.35 3[1200[ftt BX BAI1"T 4 16.90
8| 4|1201|377E 4t WHT1Z7 4 17.67 B _4[1104|MH% AR [PEEHST 4 17.03
3| _5|1305[#8 A= UShEKSC 4 17.89 2.4 _511212|83 & AL 4 17.86
m|_6|1212[;EH IFIX =LA 4 18.20 m| 6| 1228|/£5F EX 10015>&35> 4 18.55
711212 =3 M= ﬁLJEEI 4 18.61 711518[h4t {— S HM 4 20.16
8l2606[a% AL |FEE_ 4 21.14 1801 [ F % £2 RICDIAC 4 DNS
11 1[1228[H/Il &5t 10017/&5‘/ 4 16.09 12| 1[1121[F48 HRJ 4 15.50
2[1615|5%#E = JRCH(E5 4 16.09 2] 1201 [, ﬁ‘ﬁiﬁ’t WHT1Z7 4 16.85
3[1201 (e LB WH1Z7 4 16.18 312702 (%% EHE SvoE 55— 4 16.89
B 4[1305|F) BEABE [USHeKSC 4 16.31 Bl 4|1212|fF) EEE LA 4 17.18
3|_5[|2606|/NHIE 18X |[FEBE_— 4 16.61 1.9 5[1301[HF HfE JXEAC 4 17.23
m|_ 6[1212[fH I5% [Eafil=a] 4 17.97 m|_6[1801[HF =X RCHIAC 4 17.27
7[1119|#FE 2 HHAE 4 18.01 711203 [TH Pk HIEAC 4 18.26
8l1624[1LI7A& ﬂ]E EEE— 4 18.23 8| 1518|HHB R&E SHM 4 18.64
13| 1[1236|&H ZEH BHELF 4 15.74 14| 1[2702[#EFk X SvIEL )T 4 15.97
2[1217|E8 & RAAC 4 17.29 2] 2604[/\ik_EBE{C SrE0-—R¥>9 4 16.29
3[1514 (bt AE JEREFRC 4 17.43 3/1216[ F% BBA BiEAC 4 17.30
B _4[1301[)\+ *hf JXEAC 4 17.66 Bl 4|1104[FAAE g [EFI5T 4 17.38
251121 (&1l =& HRJ 4 17.89 2.6 _5/1212|]F7 &S ALl 4 17.58
m| 6[1212(ZfE X2HE  |FELIH 4 18.27 m[ 6[1701|H+mE EA |J ACERE 4 17.64
711228[Ful FLKX 10015852 4 18.67 711212(#00 FRKBH [ 4 18.54
8|2606|[1EE ZF EEpE 4 19.70 81122814 i» 10015> &3> 4 20.97
15[ 1[1212[FFH AKX EaLLEH 4 16.02 16| 1[1605[H.F Eig FPA)—bhRwhk 4 14.54
2|1217|% KRR RARAC 4 16.13 2] 1801[hiE A RMTHIAC 4 15.17
3[1301[IIA 5 JXEAC 4 16.65 3[1200[/NR T5H BAS1ZT 4 16.26
Bl 4[1121[E58 BE HRJ 4 16.80 Bl 4[1119[IER = HHABE 4 17.38
4 5[1305[F0H &F] UBHEKSC 4 17.58 3.0 |_5[91910[#8/I &% =% (& 4 17.81
m|_ 6[1201[FA HiE WRE>1=7 4 18.01 m|_6[1212[F94Z #&sf AL 4 18.21
712606|E2F X FEEBE 4 18.62 711228[&11 = 10015>&5> 4 18.98
8[1228[7%T KX— 10015835 4 18.97 8| 15188k S HM 4 22.50
17| 1[1228|542 158 10015852 4 15.91 18| 1[2702[|FE 1 Sy eSOk 4 14.53
2|1618| )l FE HEREE 4 16.82 21701 (85K B3 JACRHMHE 4 15.92
3[1305[1BA kA UBHEKSC 4 17.52 3] 1518[43 F EZBMf =M 4 16.88
Bl _4[1615[8K BX JRCH(E5 4 17.71 B 4|2604/NH ZABR  [2rBO0-RE>T 4 16.97
2| 5[2815[8K =& R—FILAR-Y 4 17.95 2.4 _5[1121[k BE HRJ 4 17.02
m|_ 6|1234|[8H XK= EE%_ 4 18.08 m| 6| 1305|#H =z USHEKSC 4 18.09
712606 3K X5 b 4 19.39 711212|WH = EELLEA 4 18.28
1212118 S=IE ﬁIJ.IEEI 4 DNS 8/ 2815(myE —f& F=AILZR=Y 4 19.30
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19] 1[1201[5H E= XE>1"7 4 15.58 20 _1[1236[KF IhEk FHEL 4 16.04
2[1301[== =X JREAC 4 15.64 2[1705[FE#M H— BRES) St/ -4 16.10
3[1217[FFE @A RAAC 4 16.30 3[1514[/\as BEZT  [JIREFRC 4 16.53

Bl 4[1212FAK RE ELLE 4 16.72 iB| 4[1104| K BABK |BEFHST 4 17.26

2| 51121 BB HRJ 4 18.28 2.3 5[1212|518 %=t EILLE 4 17.44

m|_6[2606|5%F &= FEEpE— 4 20.92 m| 6] 2808[IEH A KRIFIEES 4 17.82

1228[/I\k X#E 10015>&5> 4 DNS 711228[ILAK EBE 10015>&5> 4 20.70

21| 1[1228[#&E UE 10015>&5> 4 15.22 22 1[1301]|&& B2t JREAC 4 15.06
2|1216|{FE B4 HiBAC 4 15.64 2/ 1121|/5=H #B— HRJ 4 15.66
3[1305[&F4F FHthsl [UBhEKSC 4 15.92 3] 1801[fEE 1550 RITHIAC 4 16.68

Bl 4[2604[chf 1&E SRFO-FET 4 16.17 Bl 412170 5 RAAC 4 16.79

o _5[1212|8 =R EILLI 4 16.80 2.5 5[2702| FE EA SvoE g5 —h 4 17.78
m|_6[1201[#E4 K &% [WRH>1=F 4 18.32 m|_6[1212[18H &N EILLE 4 17.92
2606 |7l HiR EEpE— 4 DNS 7]1518["AK +3@ = W& 4 18.97

B H S| K £ g% 2 S0ER

s [_1[2702]FE i SvIELIT—h 4 14.32 AEEFRE0ER

s 2|1605|H F EE 7A)—hxryk 4 14.57
3[2702[dkil Sy ESIF—N 4 14.80

Bl 4[1217[ILO0 #B& RAAC 4 14.85

3|_5[1523[fEX BEHl AZSC 4 14.87

m|_6[1801|FI& # RICDIAC 4 15.03
7[1301[F&E EXS| JREAC 4 15.10
8[1203[FH —F HIEAC 4 15.20

A4FLZF 100m
e
_"EE_JE_EE_FM FiE® 3 ECER e | =S K FES E3

1] 1[1121[E8 BHF HRJ 4 16.38 2] 1]52801[HF HE=EF] T (3 4 15.62
2[1605[A)1 %15 FAU—bhryk 4 16.96 2[1801[EBA —T¢ RICDIAC 4 16.57
3|1200{A9% Bid BAXRI1Z7 4 17.34 3|1618|IRO =& AR r=1E3] 4 16.90

Bl 4[2604|H FEE [SRUO0-RE>J 4 18.84 B 4[1121| B &FEZ HRJ 4 17.01
2| 5[1518|=% #k=E = 4 19.35 1.8 _5[1119[FR == AR 4 17.25
m|_6[1212[#H #hfE EALLE 4 21.63 m|_6[1234|£mH @& =PE— 4 18.35
1217 |1B8AR FR RAAC 4 DNS 7|91910/MEH HE [=F (& 4 18.41
1602[fAE =5 §7<5¥SRC 4 DNS 1301 [dhEs LE JREAC 4 DNS

3 1[1212[f81L fEEE LU 4 16.01 4| _1]1801[7aHH w4 & |[BhIAC 4 16.15
2[1201[%K & WH>1=7 4 16.17 2|2702|hE HRPH  [SvEIT—k 4 16.59
3[1602[1L4F 3Rk EAESRC 4 16.26 3[1228[EH%F A0 10015>&5> 4 17.22

B| 4[2702|FKE#H BZF [SvoEVHS-b 4 16.80 B| 4[1200[51 PR EXRI1Z7 4 18.07
2|_5[1216]|KTF &LS BHiEAC 4 17.18 2.4 5[1518[42[ B3k = H 4 18.58

m|_6[2604|5A TLE [SRUO0-—RE>T 4 17.94 m|_6]1602|H FE EAESRC 4 19.79
712606 [#E FXEB EEPE— 4 18.28 1305[%4t BB USHEKSC 4 DNS
8]1234[3E KX EiEE— 4 20.27 91910{=A MFE =F (= 4 DNS

5] 1[1602|#8y7 =B FRAZESRC 4 15.80 6] 1[2702[/F & Sv e J5—h 4 15.42
2[1121[ &) BTs HRJ 4 16.77 2|1216|FE8E ADH  [HEBAC 4 16.40
3]1801[KEF & RICDIAC 4 16.78 3[1201[HAO H#%k RA>1=7 4 16.55

Bl 4[1705[1LIH TE&E IRE) St/ —Z_4 17.98 Bl 4112114 & HRJ 4 17.58

3| 5/1819|d E4 FulpEESST 4 18.13 3.1[ 5|1234|miT =& ERE_ 4 17.84

m|_6[1301;BH & JXEAC 4 18.80 m|_6[1212[#FE T3 [FEIlE 4 17.88
711104|E8 #T BEFH57 4 19.48 71260428 K= SRPO-FET 4 17.89
8l1212[FE Bx EALLA 4 19.92 812606|HiIH Eik EEBE— 4 22.90

7| _1[1201[x4J 4% RE>1=7 4 16.55 8] _1[2813[FIl == S{NER 4 15.58
2[1602[#3%8 %230 R AESRC 4 17.15 2[1301[EH B% JXEAC 4 16.76
3[91303| 5 A #E FE-91 & 4 17.58 3[1119|F: 25 HHBER 4 16.78

B 4[1216|E0 & BHiBAC 4 17.66 Bl 4]1236[%4 #LhE |HEHEL 4 16.84

2| _5[1401|\K 0% [EBIIEELEIST 4 18.59 2.2 5[1121|81% B% HRJ 4 16.97

m| 691910/ k= =% (B 4 18.67 m| 6|1234[8 0 &b SEE_ 4 16.98
71121255 2E EILLIE 4 18.98 711212[/4 BE Bl 4 18.76

1217[EH B RAAC 4 DNS 811801|&8 BTE RICDHIAC 4 20.98

9| 1|1602|#E 8% RAESRC 4 15.92 10| 1[1200|B& &HF EAXT1Z7 4 15.75
2|2606|=H & FEEpE— 4 16.56 2|1819|55 &Y SULPEFIST 4 16.01
3[1301[;EA #E JREAC 4 16.75 312604|#HF AR SRBO-—FE>T 4 16.94

B 41201 KM =8 WHE>1=7 4 17.09 B _4[2702[ FF & Sv e g5 —k 4 17.46

##[_ 5[1121[—= P& HRJ 4 18.23 3.8 5lo1910[AE & == & 4 18.15

m|_6[1234[1L00 & EieE— 4 18.26 m|_ 6|1518|#\mM IHEK E M 4 18.61
7|1705[#21L #07E IREE)SAm)-Z 4 18.88 7| 1602|9M3 KB RAESRC 4 19.26

1216[1UHR 3N HiBAC 4 DNS 121208 &= EFLLH 4 DNS

11| 1[1801[fE4 K h&E [RICHIAC 4 16.15 12[ 112013 K REA>1"7 4 16.76
2|1602|EAR EE FEAESRC 4 16.26 21112170 BEE HRJ 4 16.79
3[1104[HE BE EEHST 4 16.63 3[2702|EXK E#k S E )5 —h 4 17.01

B 4[1301[ER B JREAC 4 17.17 Bl _4[1234[BM B [ 4 17.60

1[_5[1212[KF BEkF1 |mlIA 4 18.08 0.2[ _5[1216[5FK EF BiBAC 4 17.61

m| _6[91910[#2A& FiJh == (B 4 18.55 m|_6]| 2606 [iEE K= FEEbE— 4 19.91

11215550 RIS HRJ 4 DNS 7|1212| =% EZ= EILLIA 4 20.54
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13 1[1217[FH & RAAC 4 16.47 14| 1]1801[=MH == RICDIAC 4 14.60
2|1216|=H T |BIBAC 4 16.66 211301 [HIH #iTE JAEAC 4 16.26
3|2604|%5E = SrO-RE29 4 16.96 3[1819|A+ Ak SULPEESST 4 17.12

Bl _4[1602[5kH FHE FEAESRC 4 17.48 Bl _4[1200|8TF E= %7 17 4 17.95

2|_5[1201]JII.F =5H#A WHI1Z7 4 17.58 1.6/ 5[91910|/]\i8 &HIE =% (&) 4 18.68

m|_6[1203[ILAK &% HIEAC 4 17.63 m{ 6|l1212/\ilF #E  [FEILH 4 19.23
7(1228 | &S 10015>2&5> 4 20.06 711518 [FH (L3 E M 4 20.90

15 1[1121[%E FE HRJ 4 15.18 16 1[o1010[FH /IE =% (& 4 15.41
2[1602[EEf EIE FEAESRC 4 16.59 2[1216[(#E FBE FIBAC 4 16.58
3[1104|[7 BFF PEEIST 4 17.15 3[1212[&FIL EZE [EaTiN]=a) 4 16.99

Bl 4[1301]& BEZ JRXEAC 4 17.97 Bl 4[1201[H &BX RES1=7 4 17.60

3| 5[1705|FE EH4F REY SR/ (=X 4 18.41 2.7| 5[2702[HE EiE SvIE Tk 4 17.79

m|_6|2606[1EE& & FEEbE 4 18.41 m|_6[1121 [k F#E [HR] 4 18.59

711212|MH F #=% ﬁUJEE 4 18.82 711234 |FH* ZE =EE 4 18.84
g | &= | K FiE# =z SCE%

s [_1]1801|SH =3 RICHDIAC 4 14.59

g 228130l = ELNER 4 15.08
3|2702|F F & Sy -k 4 15.11

Bl 4|1121|K%E FB HRJ 4 15.22

3[ _5[1200|EE FF BARI1ZT 4 15.51

m| 6|1212(f8l FEEE |FEUA 4 15.79
711602[8837 ZZHB FRAESRC 4 15.96
81602|/H {64 EAESRC 4 15.99

5&%EF% 100m
pioc]
EEEND = FiE# 3 SCE% #H | | FS | FiE# E SCER
1| 1]2606|#H Fk FEbE 5 15.32 2| 1[1801[dt)Il #=iE RICHIAC 5 14.66
2[111915EK FEIY "#é% 5 15.68 2l 1216|&41 BE F1EAC 5 14.90
3[1121[18F &KX HRJ 5 15.94 3[1217[5%] E8 RAAC 5 15.30
B| 4|1624|F.LE EA RRERD-LZ 5 15.96 Bl 4| 1121 |58 A HRJ 5 16.03
1| 5[1305|FH BEXB [USHcKSC 5 16.03 1.2[ 5[1203[54k BA HIEAC 5 16.61

m|_6[1234|EH &L=} =EE— 5 17.06 m|_6[2702|FmF HjE Sy I8 -k 5 16.63

711212 (% &3] ﬁLLIEE 5 19.40 711228[FEH = 10015>&35> 5 16.66
91910FFH FAR [=F (X) 5 DNS 1301|30H IRE JXEAC 5 DNS

3| 1[o1910| K #hth =% (&) 5 13.91 4| 1113018 HABE |JREAC 5 14.90
211104 | %= EI1E PEEHSD 5 14.31 2] 1305[/Mx KAk UShMeKSC 5 15.08
312004418 RS EAXI1Z7 5 14.33 3[1216[fRE XHI FIBAC 5 15.59

Bl 4[1819[IlK AE SulipE 957 5 14.43 El 4 5 5 15.78
2[_5]1305[%& # USHeKSC 5 14.89 2.6 5 5 17.29

m|_6[1236[HEF #2 BHHEL 5 14.94 m[_6 5 17.71
711121|=3F &2 HRJ 5 15.17 7 5 17.90
8[1212[BA =t LU 5| 18.86 8 5 18.02

5[ 1]1605|AJI iL» VA)—hRyk 5 14.06 6 1 5 14.49
2|1801 R E% RICHIAC 5 14.07 2 5 14.63
3(1819()II0 £k JulpEFSIST 5 15.11 3 e 5 15.03

Bl 4[1217[REE B A ZRARAC 5 15.23 El 4 SHIE 5 15.17

2| _5[1228/\ig Tl 10015>&5> 5 16.12 2.1 5[1200[ F§ =X EBAI1T7 5 15.44

m|_6[1236[;EMH #hiE BHHEL 5 16.51 m|_6[1212[#F BF EALLEH 5 16.58
712702 EE.U EREE  [SvoEI)5—h 5 17.41 711234 K57 Hah SEE 5 17.05
8]1121 17K {BRk HRJ 5 18.15 8| 11103 A& %#éi 5 17.41

7] _1[1305|/\th =2E USHeKSC 5 15.21 8| 1[1104|X% # FEFH57 5 14.27
2[1301[t.E /@E JZXEAC 5 15.42 2| 1523|)IIE P&t AZISC 5 14.49
3|1819|&F8E &=l FuliBEFH5T 5 15.45 3[1305[FE =X USHEKSC 5 15.04

Bl _4[1104[ KB =+ PEFH5T 5 15.99 Bl 4[1801[ZH & RICHIAC 5 15.08

1| 5[1212|MHF & —FF [FlLE 5 16.18 2.2 5[o1303[#EA BR[ SE-Uf &) 5 15.69

m|_6[1121[5F= &KX HRJ 5 16.35 m|_6[1119[fHEY & HHBE 5 15.85
7]1216|E) BUE B1EAC 5 17.81 712702 =3B SvIE )T -k 5 16.07

1705|550 =82 IREEISAAwIN-Z_5 DNS 811236tk fLE SHEF 5 17.30

o| 1[1217|FEH =kt RARAC 5 13.80 10| 1[91303[KH 3IRE -1 ) 5 13.98
2|1200|EA B’4E BAT1=7 5 14.15 2| 1819|)II.E K fulpEEHSST 5 14.91
3|2702|EH FERE [SvoE )5 -k 5 14.36 3[1121[IhK & HRJ 5 15.05

Bl 4112111 KXF& HRJ 5 15.65 B 4[1212[/JWk 5L FaLLEH 5 15.22

3|_5[1305|%F EE Ubb\r KSC 5 15.76 2.7 _5[1301 @&t &z JZXEAC 5 15.40

m|_6[91910[dbtk FHUER £ (B) 5 17.31 m|_6[1104|EM &% FEFH50 5 15.47
711119k BEA #@% 5 17.37 7| 2812 |#\H Sid =] AC 5 16.56
8|1212[ftd [E E@g 5 18.02 8]1518[EHMH EE E M 5 17.15

11| 1[1104|HE EB fE+57 5 14.89 12 1[2702[B8 49K SvoE 95— 5 14.67
211801 [#v° 12473 93107 f&A [ RICDIAC 5 15.01 211301 (g0l == JXEAC 5 15.51
312601428 &8 JLAREEF 5 15.14 3[o1910[#3 EUA =% (& 5 15.70

Bl 4[1212|5=% 50 =LA 5 15.55 B 4[1305|X00 Ak USheKSC 5 16.34

2[_5[1305[8JIl % UBHeKSC 5 15.66 1.5 5[1121|%&8 R&E HRJ 5 16.64

m[_6]1704[H8 = Bix] C 5 15.85 m|_6[1216[m%F =} BIEAC 5 17.20

711119|AIH ##c HHBH 5 17.30 1217|457 H RAAC 5 DNS
1121 55H = HRJ 5 DNS 12125k 3% LA 5 DNS
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13]_1[1305[H/K BAEA [UGNEKSC 5 14.64
211819|#x 5 #A FULPEEHST 5 14.83
3[1104[/ML FIE EES5T 5 15.15
B 4[1236[Fk &E HHEL 5 15.55
1| 5[2601|%E @#&% JLARBEE 5 16.06
m|_6|2815|80 lare A=A ZR=Y 5 16.81
71121 [50/%% A HRJ 5 17.23
8[1120[#0H PEak EENEDvi 5 17.63
g | &FE=S | K PilE% Ed SOER
R |_1[1217[km 5t ZAAC 5 13.58
g [2[1605[E)1] 07 FA)—FRyk__ 5 14.00
3[1801[FEE =% RCHIAC 5 14.05
‘[ 4[1104[x%Z A EEEP) 5 14.19
3| 5[1200[=H RE EAXS1~T 5 14.27
m|_6|1104|ZE (8E EELED) 5 14.31
712702|2H BRE [Sv P F5-F 5 14.38
8[1200[#@_inE EASI1T 5 14.38
5 &F4F 100m
]
| £H | B | 255 FiE® 2| S Mlle|#E=S] K & FES E
1[_1[1305[E0 ¥e USDeKSC 5 15.45 2| _1[1602[mkkEE S RAESRC 5 14.71
212014 %38 WRHS1=7 5 15.48 2[1801[&Ak &&&  [RIchIAC 5 14.95
3[2702[=1 (3R [Sv B P5—k 5 15.78 3[2702[dtN =& Sv P95 —F 5 15.45
B[ 4[1602[@A il FAESRC 5 15.83 B 4[1201[3FE <5 WRHS1=7 5 15.53
o[ _5[1801[HE &= RRICDIAC 5 16.45 1.0 [ 5| 1518[FEA 250 =0 5 16.04
m|_6[1518[Z8& it = 5 16.90 m|_6]1228[{kf#E EE= [10015>&5> 5 16.73
7[1234[=3K %1t ] 5 17.72 712351l JEEKAC 5 16.95
812351 #%E JLEKA C 5 18.38 1305 it UBHEKSC 5 DNS
3| _1[2408|L1 =X ANGEL ABILITY AC 5 15.40 4] 1[91910[#8H & =F (& 5 15.26
2[1120]FEF = EfzEyT 5 15.68 2[1201[HO _EOE  |WHS1-7 5 15.60
3[91910[ A/ _BHFI == & 5 16.28 3[1120[EE =8 EhEyT 5 16.10
‘s 4[1121[EH &% HRJ 5 16.50 B 4[1234[MlGa 25 =EE— 5 16.11
3] _5|1119[3E &L AR 5 16.70 1.2[ 5[1228[#42 T & 10015>&5>Y 5 16.61
m|_6[1234[FH H—& Eéaﬁ: 5 17.37 m|[_6[1119 a% EES MHAR 5 17.13
7[1228|=4 =% 10015>&5> 5 17.85 7[1121[FE &A HRJ 5 17.13
8[1235[ |\ 5 JEEKA C 5 17.98 8l 1235| A8 DL JLEKAC 5 18.00
5] 1]91303[IlLUA {EF] IF-U1 () 5 15.36 6| 1[91910|@&H =1t =F (&= 5 14.98
21104k BZ= EE55J 5 15.57 21301t A& mEs JREAC 5 15.39
3[1702[ERE &% SIPYTI 5 16.18 3[1702[ LA = SITPYTI 5 15.87
B[ 4[1228][ Kk BEAF [10015>&5> 5 16.39 B 4[2601[EE _BHE JLAEBEE 5 16.16
2 5[1301[fEk_&F JIZEAC 5 16.49 1.6]_5[1119[aH && MHAE 5 16.27
m|_6|1119(FH &= WHSE 5 17.07 m|_6|1236[FH {1k |=HEL 5 16.46
7123510 B8 JEEKAC 5 20.25 7[1235[28 & JEEKAC 5 16.98
1618 FAY B SRS 5 DNS 811104 z#D %:—077 5 16.99
7| _1[91303|/N\E H'C -1 &) 5 14.48 8 1]1200[%4 E& ASI1ZV 5 15.33
21203/ mx HEAC 5 14.61 2[1236]FA K= EHE 5 16.64
3[2601iFA T2 JLARBEE 5 15.87 3[1801 A% L& RICDIAC 5 16.68
& 4[1200[FNT /& EAS1~7 5 15.97 B 4[1602[#A L@ RAESRC 5 16.78
1| _5(2606|%A EHE |=ibE— 5 16.03 0.9 5[1819[ix =& SUlEFS5J 5 17.05
m|_6]1236[F=] &KE &EHPEE 5 16.29 m|_6]1305|FHE &0 USHEKSC 5 17.05
7[1602[f@MH 1k RAESRC 5 16.72 7[1228[ L 73 10015>&5>Y 5 17.19
8[1624[ LA 73 RRERD_LZ 5 18.08 8[2702| LlE 78 Sv P05 —F 5 18.04
9| _1[i305[Ht e USHEKSC_ 5 15.31 10[__1[1201[5/K *71 RES1—7 5 15.27
2[2702| =& o= Svo P g5 —F 5 15.37 2 1602[#E EE RAESRC 5 15.78
3[1217[EH _B= FAAC 5 15.68 3[1120[Lifg =47 EEyESvi 5 16.09
‘[ 4[1235[=l5 BT JEEKAC 5 17.01 & 4[1228[#% 3= [10015>&5~ 5 17.03
1| 5[1518[BAR M= = 5 17.26 2.6 _5|1216[E0 m= ATBAC 5 17.41
m|_6|1801[HMH PHEE  [RICDIAC 5 17.42 m|_6]1305[LA& %= USNMEZKSC 5 17.47
7[1228[/\H B2 10015>&5> 5 17.57 71234/ A0 EEE 5 17.96
8[1201[fFH F& WHS1=7 5 19.63 8123581 _#KE JLEKAC 5 18.96
11[_1[1602[&H =12 RA2ZSRC 5 14.87 12] 1[1301[%A @%s  |[JZAEAC 5 14.61
21201 K& B% WRH>1=7 5 14.97 2]1702|5T7L4Z AR [RIMNFYIIL 5 14.92
3[1120[FE W7 ELyEDwi 5 15.10 31201 [%=H %—? WES1=7 5 15.01
B[ 4[2702[FEEM Mk |[Sv b d5—k 5 15.33 e[ 4[o1910[XFH Bk =F (&) 5 15.75
4 5[1228[EE x4 10015>&5> 5 15.93 2.7[_5[1228[ L& Eﬂ 10015>&5>Y 5 15.76
m[_6[1234[#&M_#iE EEE— 5 16.32 m|[_6[1121[Z15 mH%= [HR] 5 16.95
7[1119[EH =R WHAER 5 17.56 71104 BH =% EES5) 5 17.95
8[1235[5FH %= JLEKAC 5 18.49 8[1235[E8 k= JLEKAC 5 18.90
13 _1[1702 -EEE BE RIMFYTIN 5 14.76 14[_1[1702[E/] =% [ERHTYTIL 5 14.42
2[91910[WM1 5% == &) 5 14.99 212368815 T2 ZHZEE 5 14.83
3[01303[ LA ILF—911 &) 5 15.48 3[1104[FEEl /ﬁ PEFHI5T 5 15.04
& 4[1301[dtE Wit JZEAC 5 16.11 & 4[o1303[=@ & SE-911 &5 15.98
1 5[1104[=H B EE5J 5 16.42 1.5[__5[2606[%H DE?% o 5 16.03
m|_6|1618|F)Il #k=E SLBHERE 5 16.58 m|_6[1119|ERI HF [HMHEESHE 5 17.40
7[1110[mAd = HaS 5 17.26 7[1235[F &1% JEEKAC 5 17.78
8[1212[kH s EaLLIE 5 18.31 8 2815/[\iE XL I 18.92
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20161106 £ RESULT

15 1[2606]|#i = EEBE— 5 15.43 16| 1[1228[/lI1%F 5% 100152 &3> 5 16.26
2120054 5 BERT1"Y 5 15.50 2[1203[5kH BE HIRAC 5 16.35
312601 [1BiE EIX JLARBEE 5 16.30 3[1602[HH B SRAESRC 5 16.58

B[ _4[1624|@lll 99 RAERD—LZ 5 16.54 B| 4[2601|&H &&= JLARBEE 5 16.60

3[_5[1119]F &5 teHAE 5 16.91 1.0 |_5[1236[HN ) FHEL 5 17.45

m|_6]|1228|FK B 10015>&5> 5 17.18 m 1624 [} BATE RAZERD-—LR 5 DNS
711602[ILIH #%&E EAESRC 5 18.51 1217 X028 R [ZRARAC 5 DNS
g [ &S | K PhEZ = iR

s[_1[1702[FE)l] %% ENPYTIL 5 14.18

- 2| 1203 [{ZkE A HIRAC 5 14.38
3[1301 (%A Bk#A [JREAC 5 14.46

B[ 4[1236[8l15 F5 ZHEL 5 14.56

3[_5[1602|mkkE 48 SRAIESRC 5 14.73

m[_6[1702[5JL(ZX BB [RMrvT) 5 14.86
7[1702[EH B=X RINTPYT) 5 14.87
811602[&H =8 SEAESRC 5 15.18
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20161106 &£ RESULT

6FEEF 100m
TE
IS EEZz il SORR HIEl &S| K & e
1 1]1514|HE 2 PIEBEFRC 6 12.85 2| 111801 AR+ HiXEH |R(CHIAC 6 13.39
211203|7E%F BAXEH [HIEAC 6 14.22 2[301304[ =K BH FOFRLBEEGED 6 13.87
3[1701[F& %1 J ACREME 6 14.69 3[1236[37 A 25 HEHEL 6 14.92
B 4[91303[FZFH Rk SF-14 () 6 14.77 Bl 4/1305|=vH [E USheKSC 6 15.06
3| 5[1121[|BBE =N HRJ 6 15.28 2.7 _5[1121 |5 HRJ 6 15.75
m|_6[1819[F K BEX SULPEEIST 6 15.47 m|_6[1228|H71 Eth 10015>&3> 6 16.59
7l91910|F%R BEE == (B 6 15.89 711234[86K TmA =FE— 6 17.12
1201 [K5F &0 WH>1-7 6 DNS 1217|187 & KAAC 6 DNS
111801 [Pa[EB fgES] TRCDIAC 6 13.60 4] 111305[#H fmKXBE U5 cKSC 6 13.66
2]1104|892% 8—BE3 |PFEFH5T 6 13.65 2[1605(thl M=) VA)—bhRryh 6 13.74
3[91910| 44T & = (&) 6 14.99 3[1228(prIEf = 10015>&35> 6 13.93
8| 4|1305[XE iEX USHeKSC 6 15.75 Bl 4|1301[dbJIl X3 JREAC 6 14.80
##| 5[1121(88% AEB HRJ 6 15.76 9| _5[o1910[FaAk fHEC = (&) 6 14.88
m|_6[1217[XE &N RARAC 6 15.96 m|_6[1121[/\g BR HRJ 6 15.31
711624[ILAK RE BAERD-LZ 6 17.90 711217|H*P BEE RAAC 6 15.42
1228|370 PEZE 10015>& 5> 6 DNS 8l1704[1Lhdh —#4 BHix] C 6 16.25
5[ 1[1217[i8H SiF RAAC 6 13.62 6]_1[1301|FN E-81 [JXEAC 6 12.74
20112185 BE HRJ 6 13.68 2] 2606[1FE EIL FEEE— 6 15.26
3122814 RESE 10015>&5> 6 13.74 3[ 1201 [#aH HH WH>1Z7 6 15.88
Bl 4[1704[#8K FiZEe Bix] C 6 14.61 Bl 4[1121[F &K HRJ 6 16.91
2| 5[1401|BH it& BE)IIEEELEHST 6 15.45 .8 5[1119[FE ZAB [WWHBE 6 18.97
m|_6[2606[=A& Ki# FEEBE 6 18.41 m|_6[1234[m*x EfE =P 6 19.17
12168 HF BiEAC 6 DNS 7112121l #iktG EaLLEH 6 19.61
2812[° T |H2k Bl AC 6] _DNS 1203[%%F 1&] H[EAC 6 DNS
7| _1[1201[fAl7 & IRH>1—7 6 13.63 8| 1[1819[XJg7 &4 SUBEFEIST 6 13.53
2[91303[[EHE A -1 &) 6 14.02 2(91303|[E4d BRiE SVE-uif &) 6 13.99
3l1514|F1l X JIEREFRC 6 15.51 3]1236|21E EH SHELF 6 15.21
Bl 4|1701[1REF MEA J ACER 6 16.04 B| 4[1514|%H BED JIEREFRC 6 15.58
2| _5[1705[8)I $k4E PREJ 5/ =X 6 16.50 4 _5[1121[EH # HRJ 6 16.12
m|_6|1119[%EH BEP HHESE 6 16.60 m|_6[1200|FEH S EXS1Z7 6 17.14
711203 [ XB HIEAC 6 16.83 1234 |EFE K& =FEE— 6 DNS
1121248 —3& [HRJ 6 DNS _
9| 1[301304|181l1 IHE FERLEEF(FD) 6 13.29 O 1[1801[H% #Fa] TRCDIAC 6 13.25
21234378 184 =BEE— 6 15.33 2[1605[F—74¥— = [7RU-hXYr 6 14.00
3|91910|chis {2 == () 6 15.71 3[91910[3thlE %A =% (&= 6 15.52
Bl 4|1217[4EF HR RARAC 6 16.09 B 4|1236|maF fE] BEHEL 6 15.86
3 5[1121 1A BB HRJ 6 16.28 .0 5| 1228 [iEF Eik 10015>&3> 6 16.72
m|_6[1203[/I\Br 3=} HEAC 6 16.41 m|_ 6| 1518[fE4 AR & = 6 28.10
711228| 13 uE=} 10015852 6 16.58 1624|7E8F JHABE |[RBAERD—LR 6 DNS
1/1305|E& A USQEKSC 6 13.74 2 1]1605|9%F/ & VAV—bhRwhk 6 13.30
2|o1010[ A & =% (& 6 14.79 2[1217[/K8F FIK RARAC 6 14.13
3[1704|EBI BZF [H#HI C 6 15.48 311121 [44AFE 1hk HRJ 6 16.00
B 4|1121 [/ & HRJ 6 15.50 B| 41228k BZE 10015>&35> 6 16.56
4 5[1217[f28 &S| RAAC 6 17.86 21 5[1119[FI 55 HHABE 6 16.63
m|_6[1518|FH BiABE [EHMAK 6 18.11 m{ 6|1121 AR {4t HRJ 6 18.72
1120|=1% gE+ ELEDi 6 DNS 1301|8fH fEth JXEAC 6 DNS
3 _1[1301[F&E A& JREAC 6 12.50 4| 1[1514[/Wk ES JEEFRC 6 13.87
2(1217[hH EX RAAC 6 13.09 2[1201[)I.F & WHT1Z7 6 14.24
3[2606|1ABE X EEE_— 6 13.51 3[1203[gIH EjE HIEAC 6 15.31
Bl 4|1121[=F B} HRJ 6 13.75 B[ 4|1119[JtH fE—B [#4HBHR 6 15.60
2| 5[1228|BAX TA 1001585 6 15.24 9| 5[2702[H F #] SV Tk 6 15.70
m|_6[1704[h—> &=} 8] C 6 15.42 m|_6[1121[AK BE HRJ 6 16.27
711203 [#xith ST HIEAC 6 I15.56 711234 [#:H #IX =EE 6 18.65
ElEs] K 2 FEs Pl iix
s | _1[1602[5& ¥= FRAESRC 6 13.38
s 2|1801FTEF 23 [RICHIAC 6 13.62
3|1618|FE #01E FEREE 6 13.65
B| 42607 |FEA 7 BETESC 6 13.81
5.0 _5[1801[EH =& RICHIAC 6 13.92
m|_6[1216|&0O0 EIiR B1EAC 6 13.94
7118014 ZEAH RICHIAC 6 14.08
8|1618|EE {E3Y HEASE 6 14.29




20161106 &£ RESULT

6FELZF 100m
TE
IS e 2 piEs Tl SoiR FEHNEEEEES K 2 G
1 11801 TEr 23  [RICHIAC 6 13.64 2| 111201 |mH HEE WH>1Z7 6 14.52
2[1228[1LIE #&F 10015>2&5> 6 14.72 21 1605(42AK thE VA)—bhrwh 6 14.77
3[91910[=8F ki= =% (&) 6 15.04 3[91910| A BE =% () 6 14.77
B 4|1104|#H Bk FEEH5D 6 15.18 Bl 411211 HRJ 6 14.83
1[_5[i518[/h\g BEE = HEM 6 15.31 2.2 5[1217[i= B RAAC 6 15.04
m|_6[1121[BIBLZEF HRJ 6 15.83 m|_6|1602[E2AK BE4TE [RAESRC 6 15.16
7I1119[IFK H 4% |[HBHE 6 16.20 71 1518|fmE ZFEK = M 6 16.05
8|1704|{EM] B Bix] C 6 17.58 8| 1212 |H #EH FHELLA 6 16.48
3] _1[1216[ILF 5H BiEAC 6 14.80 4] 1[13011lLK Fh+F [OREAC 6 15.10
211602|FEE kit FRAIESRC 6 14.83 2(91303[}FRK ==& SLE-uif &) 6 15.12
3|1605/EE BM FYAY—hRrvph 6 14.83 3[1514[E&EN EE NEBEFRC 6 15.68
Bl 4[1121[H) B HRJ 6 15.43 Bl 4[1702|FEX 3 RIT7vTIV 6 15.81
1| 5]|2604 8 ¥k Sy0—RE>249 6 16.45 0.2 _5[1216[FK #H<H FIBEAC 6 16.02
m|_6|1234[EF=E Ek SFEE 6 16.55 m|_6[1618|800 E=E SLBHER 6 16.12
712815/ FIETE |h=AILAHh=Y 6 16.98 711234 K& #fn0 =EE 6 16.62
8]1212[ARER BEF feilEE] 6 17.20 8] 1401[fREy =0 BE)I|ER[EFIS5T 6 18.51
5] 1[1618[¥8 #1E SRS 6 13.84 6] 1[1801[AAR HFR [RcHIAC 6 15.52
ANV NES IR 6 14.95 211602427 £35] FRAESRC 6 15.88
3[2702 kIl F42 Sy E 95—k 6 15.24 311234508 F° =FE— 6 16.26
B| 4|1305[HH E/K USHeKSC 6 15.63 B| 4[1705|ZK #=* frms 52w/ -ZX 6 16.26
1[_5[1514[Fm @A JIEREFRC 6 15.79 0.6] 5[1119[#VE =ik HHBE 6 16.77
m|_6[1234|Ffm BEEE [EEF_ 6 16.68 m|_6[1518|MH0 B E K 6 17.03
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